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e If a candidate answers a question TWICE, only mark the FIRST attempt.

QUESTION 1
1.1.1 | x(x+6)=0 v x=0
Xx=0or x=-6 v x=-6 )
112 | 3x* +8x=-2
3x2+8x+2=0 @tandard form.
‘o —b++/b?—dac
2a

_ -8%(8)’-4(3)(2)
- 2(3)

vA3ibistitutioniito the correct formula.
v x=0,23 v x=-2,90

x=0,230r x=—2,90 “)
113 | x2-64<0
(x+8)(x-8)<0 LR
Critical Values: —8 and 8
v diagram
v Answer (3)
-8<x<8 OR [-8;8]
114 | x Jx+5+1=x
[x+5 =x-1 visolate \/x+5
JXx+5 ' x-1)*
( ) (x-1) v'squaring both sides
X+5=x*-2x+1
x*-3x-4=0 v'standard form
(x—4)(x+1) =0 v'factors
X=4o0r x=-1
“x=4but x=-1 v'conclusion (5)
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12 | 6x+5xy—-5y=8and x+y=2
x=2-Y..(3) v x —subject of the formula
6(2—y)+5(2—y)y—5y=8 v'substitution
12-6y+10y -5y -5y =8
2 —
Py +y-4=0 v'standard form
(Gy=4)y+D=0 v factors
y:ﬂ or y=-1 v’y -values
5
6
NS LIS v x—values (6)
[20]
QUESTION 2
2.1.1 | -20;-9:0:7;...
11 9 7
) v'value of a
2a=-2 3(-)+b=11 v value of b
~1+14+c=-20 v value of ¢
a=-1 b=14
c=_7 VT, (4)
o T, =-n*+14n-7
2.1.2 n=_—b v -14
2a 2(-1)
14
2(-1)
n=7 v'value of n
=~ T, ==(1)2 +14(7) -7
=42 v'Value of T, (3)
[7]
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QUESTION 3

3.1.1 | 13:8;3;...
a=13 and d=-5 vd=-5
T,=a+(n-1)d

T, =13+(50-1)-5

T, =57

v'substitution from the correct
formula
v/ Answer (3

3.1.2 S %[2a+(n—1)d]

Sy 52—0[2(13) +(50-1)(-5)]

S, = 5475

v'Substitution from the correct
formula
v/ Answer )

3.2 S,=a+(@a+d)+(@+2d)+..+(1-2d)+(1-d)+1..(0)
S, =l+(1-d)+(1-2d)+...(a+2d) + (a+d)+a..(2)

25, =(@a+)+@+D+@+)+..;a+)+(@+)+(a+l)

v'equation 1 and 2

.'.23n=n(a+|) ‘/an=n(a+|)
-5, :_;.(a+l) vdividing by 2
n
~S, = §[a+ a+(n-1d] v/substitution of |
0 4)
S, =E[2a+(n—1)d]
3.3.1 m m
3+m+—+—+...
3 9
r= m v r= m
3 3
-1<r<l
m v'substitution of r
-1<—«1
3
—3<m<3 v Answer (3)
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3.3.2 . _a
1-r
2ar__3 ¥ substitution
£ .M
3
27- M _ 2
3
27 -9m =21 v'simplification
6 =9m
6 2
m_§-§_0,67 v/ Answer (3)
L ot 5 v expansion to THREE terms
D52 =5+—+=+..
r=1 2 1
n v a=2andr==
34 : :a(l—r )
" 1-r

v" subst into the correct formula

64 11
@—1_(1}1 n
64 2 v simplification: gzl—(lj
(1 "y 64 2
Ej Y n 6
N 6 v" same bases: (lj =(1)
z -G o
i n—62 v answer (6)
[21]
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QUESTION 4
411
Yy
A
2 3 vdiagram
) 6 1,
rZ — X2 + y2
rt=(4)*+(3)° v
vr=5
r=5 '
. 3
sing = 5 v Answer (3)
4.1.2 | cos®(90°-6)-1

v cos(90" - 6)=sing

0+1

_cos’a+sin’a
1

=sin?g-1
2
_ [?z) 1
5
-16
o= v
> Answer (2)
413 | 1-sin26
=1-2sin@cosd v'double angle
{8
5/\5 v/substitution
e
25 v’ Answer 3)
4.2 | sin?®(90° + ) +sin(180° + a)sin(-a)
sin180°—tan135’
2 N e 2
_ 4sin@cosd = &S a+(=sin a)(\, sina) v cos“ a
0—(-tan45") v _sina
_cos’a +sinasina v'sina

v cos?a+sina =1

v Answer 5)
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4.3 | sin26+cos(26 —90%)

=sin26+sin26
=2(2sinfcosH)

=4sin8cosd

v'sin 20
v 2sin@cos @
v Answer 3)

4.4 zosinx +205inx+1 - 420 for _360¢ <X < 3609
.20 (1+20) =420

v/split into a product of 2 bases
v'simplification / factorisation

- 20 =20 o
. v/dividing by 21
~sinx=1 .
v'equating exponents
x=90"ref £ .
v'both solutions
X=-270" or x=90°
(5)
[21]
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51

STATEMENT REASON
511| B,=D, =30° ¢'s opp =sides (OB =D0) radii | v'Sand R
' v
0, =120° Sumof 2's of A Sand R (2)
512 | j=60" < atcentre =2x £ at the circum. | 2 _ g0y
VR (2)
5.1.3 A i
C <120 opp. £'s of a cyclic quad v e o120
vR (2)
5.14 | ADB =70° tan-chord theorem v ADB = 70°
YR (2)
(8]
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QUESTION 6
A
45
/\‘D A
60, v
20 . 60
B 5 G C

STATEMENT REASON

6.1 | BG _60 Line _one side of A VS vR
60 45

S v BG =80

- BF =60 v answer ()
62 | ED_20 Line —one side of A V'S YR

60 80
- ED =15 v'answer (3)
v =

6.3 | Areaof AABC = % AB.ACsin B AB =60+45

=%(60+45)(60+20+60)sin30‘ ¥ AC =60+20+60

v'substitution of Area
[11]
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STATEMENT REASON
7.1 tangent-chord theorem v'Reason
1)
7.2 | In A ABCand A ADB
A=A common V'S
B, =D, proven V'S
- AABC|||AADB L; 452 vR ?3)
73 |E,=F, alternate £s; EA || GF vS VR
lA:1A= lA)zA ext £ of cyc quad DGFC
~E, =D, vS VR
(4)
7.4 | In A AEC and A ADE
A, =A, Common V'S
£, = D, proven V'S
~ AEC|||AADE
AE _AC S
"AD _AE from |||As V'S
~ AE? = AD x AC v Answer
« AE =AD x AC
(4)
[12]
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